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1) TRADE THEORY

Question No. 1/ Question ID 44 Marks: 2.00

What is the reason for the DC generator fails to build up voltage?

DC SFReR & dieedl (A0 H fawd 81 &1 1 HRUT 57

(A) O Armature resistance is less (Chosen Option)
3R ufoR1Y HH § (Chosen Option)

(B) O Prime mover is running at above rated speed
I3 HeR XS Tfd § SR Id @12

(C) O Field resistance is above the critical resistance (Correct Alternative)
a7 ufeRty wifad ufaRiy A FUWR & (Correct Alternative)

(D) O Field resistance is below the critical resistance

&7 UfeRIY shifdres UfoRiy 9 i @

Question No. 2 / Question ID 340 Marks: 2.00
What is the reason for widened barrier in a reverse biased diode?

Rad Irove ST # AISt 9147 BT HRUT R 52

(A) O Minority carriers in two materials are neutralised

&1 Gl § S d A8 D B‘c‘@l@bgl 'TI
(B) O Electrons and holes are attracted towards Supply terminals (Correct Alternative) (Chosen
Option

)
T4 3R HS Gl'l'qﬁ'dﬁﬂ?ﬁ?ﬂ 3R 3T fva gid % (Correct Alternative) (Chosen Option)
(C) O Electron in N material is drifted to negative terminal
N It H goiaei- BT <fifad &1 3R Jarfed gid &

(D) O Holes in P material attracted to positive terminal

P Il H Bld YhRIAD fHd Bt 3R AHRNd 8ld &

Question No. 3 / Question ID 449 Marks: 2.00
Which is the application for the single quadrant loads, operating in the first quadrant of a drive?
$12d & wyd Igufer # Tenfera tea Igqufer 4R & forg &1 a1 SruinT 82
A) O Hgists

HESH
(B) O Elevators (Chosen Option)
(Chosen Option)

(C) O Lifts

(D) O Centrifugal pumps (Correct Alternative)
UH] (Correct Alternative)

Question No. 4 / Question ID 195 Marks: 2.00
Which is the demerit of 3 phase concentric winding?

3 HAT Yobfad ATSfST BT ATl DI 1 82




(A) O A stepped former is required (Correct Alternative)
Udh WS BIHR P MA@l % (Correct Alternative)
(B) O Less cooling space is available
HY Maer VM Iuds §
(C) O Less difficult to shape the coils uniformly (Chosen Option)
PHigd I YHM ¥Y Y MHR A1 HH B4 § (Chosen Option)
(D) O ltis easy to make the end connection
3id HaRM T ST %

Question No. 5/ Question ID 368 Marks: 2.00
What is the name of the wiring accessory used in control panel wiring as shown in the figure?

fort & foame U =0T ta araieT & wrged araieT grid SUSRUT BT ATH o1 872

(A) O Grommets

(B) O DIN rails (Correct Alternative) ( gbal ITI

SH (Correct Alternative) (Chose
(C) O Race ways
RG]

D)O G chénnel

Question No. 6 / Question ID 253 Marks: 2.00
What is the use of synchroscope?

i IU BT ST T 82
(A) O Adjust the supply frequency
B

(B) O Adjust the output voltage
3T3TYC dliecsl ol AR B

(C) O Indicate the correct instant for paralleling (Correct Alternative) (Chosen Option)
JHTT & ﬁl‘l;' el T;R_cf Tdbd S (Correct Alternative) (Chosen Option)

(D) O Adjust the phase sequence
Tl 3fIchH JHMINGTT B

Question No. 7 / Question ID 420 Marks: 2.00
What is the purpose of external source for passive sensors?
fAfepg =i & fore a6t Td &1 32y T 72
(A) O To generate signal (Correct Alternative) (Chosen Option)
ST FIH & ﬁ‘l'l'{ (Correct Alternative) (Chosen Option)




(B) O To generate heat
Tiff feT FRA & fere

(C) O To generate pressure
Gdld oA Pl

(D) O To generate light
JH1RI ITF B o folg

Question No. 8 / Question ID 142

Marks: 2.00

What is the name of AC coil winding as shown in the figure?

AC IS IEfET &1 o =g 872

A S R |
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(A) O Double layer winding

a1 IR arsfen

(B) O Half coil winding (Chosen Option)
3147 Hed AfSTT (Chosen Option)

(C) O Singal layer winding
. a_qq . o

(D) O Whole coil winding (Correct Alternative)

X $Sd dISIST (Correct Alternative)

Question No. 9 / Question ID 426

Marks: 2.00

What is the name of the component marked as ‘X’ in the block diagram of AC drive as shown in the

figure?

o o o & faman a1 8, AC $18d & sdler 3@ | X' ¥ fafed g &1 A1 1 52




EL441511

O -®

EL441511

(A) O Rectifier

(B) O A.C motor
A.C
(C) O D.C bus (Correct Alternative)
o T (Correct Alternative)
(D) O Inverter (Chosen Option)
(Chosen Option)

Question No. 10 / Question ID 266 Marks: 2.00
Which is acts as a both inverter and converter? . .
P T 3R ﬁ?wdqéﬁﬁ$wﬁ$®@@al |T|
(A) O Metal rectifier
g fapart
(B) © Mercury arc rectifier
TR 31D [GTHRI
(C) O Synchronous converter (Correct Alternative)
E[Fq?b‘lﬁ‘l'iﬁ FHAR (Correct Alternative)
(D) © Semi conductor diode (Chosen Option)
3{EATAP SIS (Chosen Option)
Question No. 11 / Question ID 121 Marks: 2.00

Which is inversely proportional to the speed of DC motor?
St DC HIeR &1 I & HehHTUTd! 8T 872
(A) O Field flux (Correct Alternative)
e BT (Correct Alternative)
(B) O Armature resistance (Chosen Option)
TR gfaRiy (Chosen Option)
(C) O Load current
HR e
(D) O Applied voltage
[SIES)

Question No. 12 / Question ID 314

Marks: 2.00




What is the purpose of connecting L4 through C4 to the transistor base as shown in the figure?

oI s ot & feaman T 8, Ly @1 C4 ¥ ifoRer 9 ¥ SifeH &1 3639 &1 872
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(A) O Provides DC supply

S 3yfef we BRar ®

(B) O Provides negative feedback
THRIHD BIS 9% UGH IRl §

(C) O Provides positive feed back (Correct Alternative)
YHRTHASD BIS dF UQr—d ddl % (Correct Alternative)

(D) O Provides tranS|stor blasmg voltage (Chosen Option)
TiforeR Y diee™ Ue™ Rl § (Chosen Option)

Question No. 13 / Question ID 77
What is the permissible temperature value of class ‘F’ insulation?

o} *F S YA T WH dTIHH HH H1 82
(A) O 120°C
120°C
(B) O 105°C
105°C
(C) O 90°C (Chosen Option)
90°C (Chosen Option)
(D) O 155°C (Correct Alternative)
155°C (Correct Alternative)

Marks: 2.00

Question No. 14 / Question ID 291

Marks: 2.00




Which method of the parallel operation of alternator is shown in the diagram?

ﬁaﬁ@%ﬁa%mﬁmﬁﬁq@ﬁﬁ@%nﬁ%

Y
g ? E. Lt @ — TRANEFORMER — TRANEFORMER
’/
Il = _§ = = =
— TP o R o R
HE ams et
L ] o 0 B § 0 B E
G O O SYNCHRONZING EROM INCCMING E o SYNCHRONIZING FROM INCOMING §
(A) O Moving iron type synchroscope method (Chosen Option)
Hﬁ‘T 3R sy Rishrapiy fafe (Chosen Option)
(B) O Dark lamp method
3feRT e fafy
(C) O Western type synchroscope method (Correct Alternative)
UPR Rigimiy fafd (Correct Alternative)
(D) O Dark & Bright lamp method
3fART 3R Iforaran o fafd
Question No. 15/ Question ID 25 Marks: 2.00
Which type of DC generator is used for lo stance distri :
781 41 4 R e T et TR 5 ST A 1 S Rt e B2
(A) O Cumulatlve compound generator (Correct Alternative)
e (Correct Alternative)
(B) O Differential compound generator
(©) O leferentlal short shunt compound generator
(¢ Te HUNEE TReR
(D) © Shunt generator (Chosen Option)
Tje SR (Chosen Option)
Question No. 16 / Question ID 120 Marks: 2.00

What is the name of rule as shown in figure?

fom o feRae SR oy &1 71 a1 B2

{ELHYIUE

(A) O Palmrule
g frae

{ELHYREI




(B) O Fleming's right hand rule (Chosen Option)
TATHT o1 qIfg g1y | (Chosen Option)
(C) O Thumb rule
yrg |
(D) O FIemmg s Ieft hand rule (Correct Alternative)
Cad| EIT[{ 814 &7 fFgw (Correct Alternative)

Question No. 17 / Question ID 76 Marks: 2.00
Which insulating material belongs to class ‘B’ insulation?
P I Faras it 9ot &t F Fas o g?

(A) O Cotton (Chosen Option)
hUMY (Chosen Option)
(B) O Leatheroid paper
THS BT BT
(C) ©O Bamboo
EIR)
(D) O Fiberglass (Correct Alternative)
WITAX T¢I (Correct Alternative)

Question No. 18 / Question ID 493 Marks: 2.00
Which electric lines connect the substation to distributors in distribution system?

faaRor gurmet 7 faaRe®! & fore TeRex= &1 S 4 fayd a2 sired 82

(A) O Service mains

(B) O Service lines (Chosen Option)
Hm('ﬂ%q(cmsen Option) GlObal ITI
(C) O Feeders (Correct Alternative)

(Correct Alternative)
(D) O Distributors
ok

Question No. 19 / Question ID 28 Marks: 2.00

What is the purpose of using resistance wire used in the commutator in D.C generator as shown in the
figure?

fom o feae 3uR St SFver ® Srgeer H Ugad UioRiY dR &1 SUGINT R BT 3= &l g2

(A ) L

L]
(A) O To maintain constant stage (Chosen Option)
fRR 3a=YT FHE I & AT (Chosen Option)
(B) O To increase the statically induced emf

Rfde U J UNT emf B §¢H & g

(C) O For smooth reversal of current direction (Correct Alternative)
COLIE] fe=m & LIRS IACHI & ﬁ'Q (Correct Alternative)

(D) O To reduce the voltage drop
dlecsl ST Dl HH DA & folw

B




Question No. 20 / Question ID 295 Marks: 2.00
What is the name of curve of the synchronous motor as shown in the figure?

e feamy 3R R HIex & aoh BT 14 41 82
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(A) O Inverse 'V' curve (Correct Alternative) (Chosen Option)
b H 'V' deb (Correct Alternative) (Chosen Option)
(B) O V'curve
V'déh
(C) O Load characteristics curve
deh
(D) O No load characteristics curve

e faRwar o el

Question No. 21 / Question ID 179 Marks: 2.00

What is the synchronous speed of an A.C 3 phase induction motor having 6 poles at a frequency of 50
Hertz?

50 ¢S BI TIFRT TR 6 ¢l aTcH Th A.C 3 Trol TRUT HieR &l Jedap1erds T o1 87




(A) O 1440 rpm
1440 rpm
(B) O 1000 rpm (Correct Alternative)
1000 rpm (Correct Alternative)
(C) O 800 rpm
800 rpm
(D) O 1200 rpm (Chosen Option)
1200 rpm (Chosen Option)

Question No. 22 / Question ID 172 Marks: 2.00
What is the name of the winding as shown in the figure?

o o o # feaman o 7, arsfe &1 7w w82

(A) O Skein wmdlng (Correct Alternative)
(Correct Alternative)
(B) O Diamond coil winding (Chosen

BRI $ed dISfST (Chosen OptlorﬁTObal |T|

(C) O Involute coil winding

Sicd ped arsfST

(D) O Skew winding
S

Question No. 23 / Question ID 233 Marks: 2.00
What is the name of the single phase motor as shown in the diagram?

= & gxitu 7T Rivret thel Hiex &1 98 1 872
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Y=

ELNYIMIHID
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e ' 11

3 pF, 400V
CONTINUOUS DUTY RATING

ELNYIMA 10

(A) O Permanent capacitor motor (Correct Alternative) (Chosen Option)
YT} T Hex (Correct Alternative) (Chosen Option)

(B) O Resistance start induction run motor
RS WIE F8HRM ¥ Hiex

(C) O Capacitor start capacitor run motor

FURYeR T HURIeR I AR S
(D) O Capacitor start induction run motQ |Oba| ITI
PURYER T TSI T Al

Question No. 24 /| Question ID 494 Marks: 2.00

What is the insulation resistance between any two conductors in a medium voltage domestic installation
as per |E rules?

IE & ol & SR A diecs O] SRR | fhal ol arad! & siid S~goIR UfeRkie o7 872
(A) O More than one mega ohm (Correct Alternative)

TS AMSNH F 3Mfw (Correct Alternative)
(B) O Zero (Chosen Option)

X[ (Chosen Option)

(C) O Less than one Mega ohms
Teh T 317 9 DHH

(D) O Infinity
S

Question No. 25/ Question ID 306 Marks: 2.00
What is the name of amplifier as shown in the figure?

ST P fom & fezaman a1 § THelierRR &7 1 &1 872
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(A) O Common collector amplifier

DI Helde’ TUAIBRR

(B) O
F S QR g

Class AB push pull amplifier

FITY Tat 91 §df THEIh IR

(€) O

(D) O

Global iTi

Class B push pull amplifier (Correct Alternative)
(Correct Alternative)

Common emitter amplifier (Chosen Option)

PHIH TR TATHTR (Chosen Option)

Question No. 26 / Question ID 174

Which type of testing of winding is illustrated as shown in the figure?

ST P fomr & feraman man 8, arEfeT o1 g R &1 uiequn g=itar T 872

Marks: 2.00

i

.

(A) O Short circuit test (Chosen Option)

7 Fidhe o (Chosen Option)

(B) O Resistance test (Correct Alternative)
ufaRTY gteor (Correct Alternative)

(C) O Polarity test
Yqdl ¢




(D) O Voltage drop test
dlecl gIY Tiarm

Question No. 27 / Question ID 157

Which type of motor is used to provide high starting torque at variable speed?

Marks: 2.00

gRafdd 1fd W 3= IR gargul UeM &3 & ol fd UHR &1 Aex &1 IUdiT far ST g2

(A) O 3 Phase slip ring induction motor (Correct Alternative)

3 war f&ag far iror AieR (Correct Alternative)

(B) O 3 Phase single squirrel cage induction motor
3 Hdl Thd [RepRd Pl URUT A

(C) O Permanent capacitor motor

TYRfT Gt Hiex

(D) O Universal motor (Chosen Option)

qﬁaﬁa e (Chosen Option)

Question No. 28 / Question ID 331

What is the type of amplifier circuit as shown in the diagram?

ST P fomr # feaman mam 8, TRl iR gfdhe ol UhRR &1 872

— .
Glokal i
: i
& 3
r 1 %
— .
j » 1 %

(A) O Common base amplifier (Correct Alternative) (Chosen Option)
1A o9 yad® (Correct Alternative) (Chosen Option)

(B) O Class B push pull amplifier
A o g1 g

Marks: 2.00




(C) O Common emitter amplifier

PHIH TR TOATHTR

(D) © Common collector amplifier

P Hoidex THATHRIR

Question No. 29 / Question ID 143 Marks: 2.00
What is the name of the coil winding as shown in the figure?

o fos o & feaman a1 B, Sea arfE &1 o 94 82

Z

ELSCIE13

lobal|iTi

ELSCT613

(A) O Mesh shaped coil winding (Chosen Option)
ST TR DI W arsfém (Chosen Option)
(B) O Concentric coil winding
SHAfeh Dl arRfST
(C) O Distributed coil winding
faaRkd ded arsfen
(D) O Diamond mesh shaped coil winding (Correct Alternative)

SITell & STPHTR B W aTg'%'lT (Correct Alternative)

Question No. 30 / Question ID 475 Marks: 2.00
Calculate the voltage and ampere/hour, if four cells rated as 1.5 V and 8 A.H are in parallel?

Jieeel 3R THIRR / €< &1 UM &Y, A TR 3§ I8 IR AT 1.5V AR 8 A H & TUH T B T8 g2




(A) O 1.5V and 32 AH (Correct Alternative)
1.5V and 32 AH (Correct Alternative)
(B) O 6Vand8AH
6 Vand 8 AH
(C)O 3Vand 16 AH
3 Vand 16 AH

(D) O 6V and 32 AH (Chosen Option)
6 V and 32 AH (Chosen Option)

Question No. 31/ Question ID 472 Marks: 2.00
Which instrument is used to check short circuit faults in electronic circuit in voltage stabilizer?

@Wﬁ%%ﬁ%%ﬁﬁmﬁ%%ummmwmw
?
(A) O Multimeter (Correct Alternative)
(Correct Alternative)
(B) O Ohmmeter
(C) O Voltmeter
dlecHieR

(D) © Ammeter (Chosen Option)
THTeR (Chosen Option)

Question No. 32 / Question ID 244 Marks: 2.00
What is the name of the part marked as 'x' of hysteresis motor as shown in the figure?

%aﬁﬁ@NW@ﬂﬂﬂ%@h@ﬂW%a@ YT &1 AT 1 82

o

I

(A) O Stator winding (Chosen Option)
@ETEJFW (Chosen Option)
(B) O Shading coil (Correct Alternative)
' W (Correct Alternative)
(C) O Hard steel rotor
el AR

(D) O Laminated iron stator

TMHFCS 3TRA T

Question No. 33 / Question ID 298 Marks: 2.00

Which is a active component?
TS Tichd gedh B AT g2
(A) O Inductor

URYH
(B) O Capacitor

TR
(C) O Transistor (Correct Alternative) (Chosen Option)

' (Correct Alternative) (Chosen Option)




(D) O Resistor

Question No. 34 / Question ID 60 Marks: 2.00
What is the condition for the maximum efficiency of a DC generator?
DC SReR &1 HeaH G&fdl & forg 1 =1 872
(A) O Variable losses is equal to constant losses (Correct Alternative)
g1t fARaR g1f~al & SRTeR gl @ (Correct Alternative)

(B) O Variable losses is more than constant losses (Chosen Option)

givgd-a g1faar fARaR g1faat @ sifde gt 8 (Chosen Option)
(C) O Eddy current loss is equal to hysteresis loss

TS YR B iR g1 & kiR @

(D) O Variable losses is less than constant losses

gt PRER g1l @ s g1 @

Question No. 35/ Question ID 66 Marks: 2.00
Which rule is used to determine the direction of rotation of armature in D.C motor?
D.C Hiex & 3mier & guH &1 fo=n Fuila s & forg foow faw o1 ot fasan Siman g2
(A) O Fleming'’s left hand rule (Correct Alternative)
& 91U g1Y BT raq (Correct Alternative)

(B) O Right hand grip rule

<11 81U Udhs foH
(C) O Right hand palm rule

aIfeA g1 Bt g &1 g

) O e e e el dnal 1T

Question No. 36 / Question ID 401 Marks: 2.00
What is the purpose of DIN-rail used in the control panel wiring?
Herd Ue arafT & Ugad DIN-YT &1 3= a1 82
(A) O Mounting the control accessories without screws (Correct Alternative)
Tp & fae1 frdsror arsft @ § (Correct Alternative)
(B) O Mounting the control accessories using screws
&P BT IYGIT Db (G0 GERIDH JUHUI hl ST BT
(C) O Mounting the double deck terminal connectors (Chosen Option)
S o R TgIoldh i | (Chosen Option)
(D) O It provides a path way for electrical wiring

Tg fayd dRI o forT U =l We™ &xdl §

Question No. 37 / Question ID 379 Marks: 2.00
What is the use of PVC channel in a control panel wiring?
TH derd UAd it § UidRi oa o1 SUaRT &1 87
(A) O Mounting relays (Chosen Option)
REASHIE] (Chosen Option)

(B) O Path way for electrical wiring and protection (Correct Alternative)
fyorelt & ARl iR qram & foIT IAT (Correct Alternative)

(C) O Mounting MCB
MCB oIl




(D) O Mounting double deck terminal contactor

S9d S R JAIoIdh AT

Question No. 38 / Question ID 454

What is the full form of "VFD"?

VFD &1 JUf %0 &7 g2

(A) O Volume Frequency Drive
Volume Frequency Drive

(B) O Value Fixed Drive
Value Fixed Drive

(C) O Voltage Frequency Drive (Chosen Option)
Voltage Frequency Drive (Chosen Option)

(D) O Variable Frequency Drive (Correct Alternative)
Variable Frequency Drive (Correct Alternative)

Marks: 2.00

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 529
What is the expanded form of S.P?
wq.t. (S.P) %1 fawgd U F1 82
(A) O Selected Price

Selected Price
(B) O Super Price

Super Price
(C) O Special Price

Special Price

(D) O Selling Price (Correct Alternatiyej(fhogen Onptio .
Selling Price (Correct Alternative baﬂtiolw) I

Marks: 2.00

Question No. 2 / Question ID 525
What is the value of a x a x a3 x a* ?
a x a2 xa3xa4WII'F[?EIT%?

(A) O a° (Chosen Option)
a? (Chosen Option)
(B) O

10 (Correct Alternative)
10 (Correct Alternative)

a
a

(C)O a8
a
a
a

8
(D) O &’
7

Marks: 2.00

Question No. 3 / Question ID 518
What is the purpose of a lubricant?
HED BT I Y T 82
(A) O Toincrease the pressure

G199 o fog
(B) O To increase friction

YU Y d¢H & forg
(C) O To reduce pressure

Gdd I HH B P [T

Marks: 2.00




(D) O To reduce friction (Correct Alternative) (Chosen Option)
TYUT Y HH B & foT (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 534 Marks: 2.00
What is the name of a booklet, the rates of various terms are indicated?

DI-TT UTFAHRON &R & ST BT UG Hal 572
(A) O Price bank
fdTd

(B) O Price bunch
7 T Gefda (@raRe)
(C) O Price catalogue (Correct Alternative) (Chosen Option)
faumT (Correct Alternative) (Chosen Option)
(D) O Price tag

Question No. 5/ Question ID 531 Marks: 2.00
How the 'Principal' is denoted in simple interest calculation?
IR TS H fiRe &1 forg ave @ g fasar siar 82
(A) O 'P'(Correct Alternative) (Chosen Option)
'P' (Correct Alternative) (Chosen Option)

® O R
R
©0 n
n
©)O I

' Global iTi

Question No. 6 / Question ID 533 Marks: 2.00
What is the term used for the method of calculating various quantities and expenditure on a particular job
or process?

o} fafare ol a1 ufsear & faftrT AEmet 3Nk =g &Y o1 S & fafY & fore uamT # <ft i areft
PIEACRIKE 2
(A) O Specification

faazor

(B) O Drawing
IEEC]]
(C) O Plan

(D) O Estimation (Correct Alternative) (Chosen Option)
STh ¢l (Correct Alternative) (Chosen Option)

3) ENGINEERING DRAWING

Question No. 1/ Question ID 549 Marks: 2.00
Identlfy the symbol used for mlcrophone (general) in electrical and electronlc CII’CUI’[S

gafdesmd 3R 3adciHe Jfdhe H ARHIBH (M) & g ITanT fHe oM are Udie & uga &1




(A) O

(B) O

(€)O

(Correct Alternative) (Chosen Option)

Global iTi

(Correct Alternatlve) Chosen Option)




(D) O

Question No. 2 / Question ID 554
Which is ball peen hammer?

Sid YH R p A1 8?2
(A) O

Global iTi

(B) O

Marks: 2.00




(€)O

(D) O

(Correct Alternative) (Chosen Option)

(Correct @llr@lb)ai\osle-vr q.ption)

Question No. 3 / Question ID 553
Identify the switch in the given picture.

e e fom 4 fgar @1 wea™

(A) O
(B) O
(€) O

(D) O

Intermediate Switch

SeHifSTe fia

Toggle Switch

eI

Tumbler Switch (Correct Alternative) (Chosen Option)
TR &g (Correct Alternative) (Chosen Option)
Flux type switch

T TR g

Marks: 2.00

Question No. 4 / Question ID 537

Marks: 2.00




Which is the static machine that increase or decrease the AC voltage?
T diecs Bl IGH AT geH aldl Rfed TR I It g2
(A) O Induction motor (Chosen Option)
$8A-M HICX (Chosen Option)
(B) O Transformer (Correct Alternative)
' (Correct Alternative)
(C) O Alternator

(D) O Generator

Question No. 5/ Question ID 546

Voltage less than 250 volt is called

250 A Y HAdleedl _ Hedmdi g

(A) O MT (Medium Tension) (Chosen Option)
MT(H&IH ¢2H) (Chosen Option)

(B) O EHT (Extra High Tension)
EHT (3ffaRed 3= <)

(C) O LT (Low Tension) (Correct Alternative)
LT (Fﬁ é"-‘ZF-T) (Correct Alternative)

(D) O HT (High Tension)
HT (3= ¢3M)

Marks: 2.00

Question No. 6 / Question ID 555

ot e 8 Global iTi

(A) O

Marks: 2.00




(B) O

(€)O

(D) O

lob

(Correct?ternatlve) (Chosen Option)

(Correct Alternative) (Chosen Option)

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 775 Marks: 2.00
If your first design of design thinking doesn't work, what should you do?
i f&oe Rifds &1 smuesT uga fSug & T8l HRd1 &, d 3! 1 ST dTey?
(A) O Give up on it
EISERIEIRY
(B) O Ask for feedback and try to improve (Correct Alternative)
HATET 3R gUrR P BT U ST A1ieT (Correct Alternative)
(C) © Make something else (Chosen Option)
PS 3R §FMT BlIRY (Chosen Option)
(D) O Purchase some other design

3R & Wite =iy

Question No. 2 / Question ID 630 Marks: 2.00




Good practice for green mind set is
W U2 € e & o ST snam g
(A) O Separate and recycle waste (Correct Alternative) (Chosen Option)
I DI AT B 3R ITDT g‘ﬁfiFUT Gy (Correct Alternative) (Chosen Option)
(B) O using aircondictioners all the time
R YUY TR HS IR DT IGINT Bl
(C) O taking lot of printouts
ggd R flesm3e o
(D) O keep lights on all the times
B 9HY d18e 3HTH G

Question No. 3 / Question ID 575 Marks: 2.00
Complete the sentence with suitable describing words.
There are apartments in my neighbourhood.
GugﬁaavﬁﬂaﬁﬁQﬁﬁT@?ﬂ&quTaﬁw
There are apartments in my neighbourhood.
(A) O beautiful
beautiful

(B) O spacious (Correct Alternative)
spacious (Correct Alternative)

(C) O good
good

(D) O expensive (Chosen Option)
expensive (Chosen Option)

Question No. 4 / Question ID 602 - Marks: 2.00
What is an example of formal written comﬁrlgib’.al ITI
BIHd e HR BRI BT IaIe0 HT 87
(A) O Writing an email to your manager (Correct Alternative) (Chosen Option)
USSP HI Udh z{'ﬁ?r fera= (Correct Alternative) (Chosen Option)
(B) O Texting a friend
forfl o Y = W
(C) O Posting on social media platforms
T HF ST WeHhiH TR GRS HAT
(D) O Sending a WhatsApp message
FTCIUY TR GG HomT

Question No. 5/ Question ID 805 Marks: 2.00
If someone wants to sell home made products, what they have to do, to grow the business?
MR BIs W A I IATE ST T8I § dl I AT TG & [o1T T HAT 8I2
(A) O Only sell to her neighbours
I9P TSIRT! Bl & S Ay
(B) O Wait for an opportunity to grow the business
I GG & AR PI UCl& B! AMGY
(C) O Find shopkeepers and build marketing with them. (Correct Alternative) (Chosen Option)
Kai Q'GT B 3R ISP 1Y HIH I IATT iIT%E (Correct Alternative) (Chosen Option)
(D) O Keep doing the same thing without any changes

fdt SCdd & a5l HH HId IgT1 ANy

Question No. 6 / Question ID 636 Marks: 2.00




How have workplaces changed after COVID?
HIAS & IIG PRIVIA HY TG MY g2
(A) O Mix of in-person and at-home work (Correct Alternative)
feIITd 3R TR BT BT fAYUT B (Correct Alternative)
(B) O Less job opportunities
THt & HH AW §
(C) O No focus on technology
CEHITSN TR 1S Bidhd el &
(D) O Flexible in working hours is nil (Chosen Option)
P & gl H i RIG % (Chosen Option)

Question No. 7 / Question ID 705 Marks: 2.00
While thinking about learning, what are the questions you can ask yourself?
AT F IR T Grad T 319 Ge F S S U U Jhd 82
(A) O Its waste of time
Ig T P gl
(B) O How can | learn and understand better? (Correct Alternative) (Chosen Option)
t: | R Wb J I W@ 3R HHYA b dl E’? (Correct Alternative) (Chosen Option)
(C) O ltis very tough
g 9gd o 3
(D) O ltis very difficult for me to understand

W o 39 wHe g gRkea §

Question No. 8 / Question ID 659 Marks: 2.00

What type of resources one can find in t M$’trrm?
pa Sfear fefored wiewd o fod TR

(A) O Courses, skill centers job opportunities, and more (Correct Alternative) (Chosen Option)
@E? iG] GI'QF;E&E:‘T 3R dgd PO (Correct Alternative) (Chosen Option)
B) O Flnan0|al services and government schemes

A S8R TaHe Wim
(C) O Only eBooks and reading materials
Had 3R A& Hehaa

(D) O Only job listings
Had B} foIRe

Question No. 9 / Question ID 777 Marks: 2.00
If you are making a new app useful for the people. Why it is important to test it?
3R 30 AR & oY IUANT DI 701 TU ST B & | SHBT <X HRAT 1 AT 672
(A) O Because it's fun to watch others try your app
1T TTR T T VT TSI BY <G AV §
(B) O To see how people use it and make it better (Correct Alternative) (Chosen Option)

e aﬁef & ﬁﬂ'{ &« EXEdl) ITANT FE HId % 3R ?{ﬁ aB?R' CEIG) % (Correct Alternative)
(Chosen Option)

(C) O To check if people like the colors and pictures
g i & fo o il 1 3 3R oY uig € ar =il
(D) O To show people how good you are at making apps

AT ) I8 EM & fore i oy Ty &9 & fvam s &

Question No. 10 / Question ID 754 Marks: 2.00




While working in a project, you understand that you did a mistake. What should you do?
forelt Uioiae & HTH $HRd THT SATAH! THT 31T & [ SO T 81 TS| SMTUD! &7 HRAT AIMga?
(A) O Wait for someone else to find out your mistake

31O Tl ST & g faret 3R T SoiR &1 AT
(B) O lIgnore the mistake and continue working

T B ToR3IETS HIAT 3R BT STRI IGT 1T

(C) O Blame team members for the mistake
et & forg & & TRl &l &Iy 1 =Ry

(D) O Tell your boss about the mistake (Correct Alternative) (Chosen Option)
TeTell & R H U4 919 B FaT T:l'l'%'Q (Correct Alternative) (Chosen Option)

Question No. 11 / Question ID 787 Marks: 2.00
are at the centre of any business.
fopalt oft o & s A A B
(A) O Licence
IERE
(B) O Customers (Correct Alternative) (Chosen Option)
PHICHY (Correct Alternative) (Chosen Option)
(C) O Bankloan
a9

(D) O Working capital
T Hitea

Question No. 12 / Question ID 634 Marks: 2.00

Which is an 'App' based Glg economy, ob
DI I TH T R 7 SHHE § m‘?@%gﬁi@ﬁﬁmw%

(A) O Independent contractor
WA
(B) O Permanent employee

(C) O Home catering (Chosen Option)
(Chosen Option)
(D) O Swiggy (Correct Alternative)
(Correct Alternative)

Question No. 13 / Question ID 674 Marks: 2.00
In an email, where will you add the recipient email address whom you want to send the copy of an email?
) SAT H 31U IT U dl BT SHA UdT Hgl Sl oy 3T SHA 1 H1dT HorT IT8d 872
(A) O Subject (Chosen Option)
Subject (Chosen Option)
(B) O CC (Correct Alternative)
CC (Correct Alternative)
(C) O Bcc
Bcc

(D)O To
To

Question No. 14 / Question ID 571 Marks: 2.00
Hi, how are you, whats up, these are examples of

T, WU PIE, FAAWE Y PSR |




(A) O impolite communication
SAISC HRIADIA
(B) O informal communication (Correct Alternative)
Eﬁﬁﬁ Wﬁhﬁ (Correct Alternative)
(C) O polite communication
qidrge HRIHHRM
(D) O formal communication (Chosen Option)
BiHd HRIFHRM (Chosen Option)

Question No. 15/ Question ID 684 Marks: 2.00
What is the standard way in which computers connected wireless?

SR B TR RIPb J HaE B P AFD dIh] HT g7

(A) O LAN (Chosen Option)
LAN (Chosen Option)
(B) O WAN
WAN
(C)O IsP
ISP

(D) O Wi-Fi (Correct Alternative)
Wi-Fi (Correct Alternative)

Question No. 16 / Question ID 577 Marks: 2.00
Fill up the blanks with suitable words so as to become a meaningful sentence
"Tell us about a difficult situation you have and how you to come out of it."

ﬁm@nﬁaﬁaﬁaﬁ@@aﬁ%m@a@ww|

"Tell us about a difficult situation you havG_l_Orbta\l y(1u ,__to come out of it."
(A) O face, manage

face, manage
(B) O faced, manage

faced, manage

(C) O managed, face (Chosen Option)
managed, face (Chosen Option)

(D) O faced, managed (Correct Alternative)
faced, managed (Correct Alternative)

Question No. 17 / Question ID 643 Marks: 2.00
A__ helps gig workers find customers and provide services at a fixed charge.
TH T el @) Ue® e iR Uh M Yo IR HaTd UeH HRA H Jeadl HRdl g
(A) O netflix
EEERER]

(B) O platform/app (Correct Alternative) (Chosen Option)
fQ'q (Correct Alternative) (Chosen Option)
(C) O school

¥R
(D) O bank
d&

Question No. 18 / Question ID 574 Marks: 2.00
Complete the sentence with suitable describing words
There is a playground near our house.




UG JUMTHD oc I TR YT X |
There is a playground near our house.
(A) O spacious (Chosen Option)
spacious (Chosen Option)
(B) O good
good
(C) O beautiful
beautiful

(D) O big (Correct Alternative)
big (Correct Alternative)

Question No. 19 / Question ID 732 Marks: 2.00
What should be avoided during an interview?
SR & TR for el I s A1fgu?
(A) O Greet the employer with a smile
TR Dl IHRIGC o 1Y Wi B
(B) O Maintain eye contact
3G Y TUdh TR
(C) O Answer clearly and loudly
WE TG AR A IW S
(D) O Look somewhere and answer (Correct Alternative) (Chosen Option)

ih_(ﬁ 3R a'@ 3R T a' (Correct Alternative) (Chosen Option)

Question No. 20 / Question ID 751 Marks: 2.00
Which of the following best describes the self-management skill of reliability?
ﬁaﬁ@aﬁﬁﬁﬁwﬂw%@wﬁﬁ@l@ﬁgﬁﬁaﬁm%

(A) O Not being honest with colleagues
TEHHA! & Y SHMGR = X
(B) O Not completing tasks on time
99 R B R 8] HAT
(C) O Ignoring the needs of others
GIRI 1 ! Dl ARG BT
(D) O People always trust you to do your job well (Correct Alternative) (Chosen Option)

ST SATT 3TY YR HRHT HId & o 3ATY YT HTH 35| a8 | B (Correct Alternative)
(Chosen Option)

Question No. 21 / Question ID 715 Marks: 2.00
While applying for a position as fitter, which of the following email subject lines would be the most
suitable?

fhex & g & fa emde R vy, FufaRad & @ oF O S8 fawy tfed ged Suged grit?
(A) O Urgent Attention Needed
qPTd & & B TG HT
(B) O Fitter Job needed
"fher e & T¥d ©
(C) O Application for Fitter Position - [Your Name] (Correct Alternative) (Chosen Option)
fihex ug g9 3MTde - [3TYHT ] (Correct Alternative) (Chosen Option)
(D) O Applying for a new Job

TS AAIP] & foTT MG PR I@ &

Question No. 22 / Question ID 759 Marks: 2.00




As a machine operator, while working with your machining you find the machine is not working properly.
What should you do?

T HLMH TR & =0 H, 30 AT & 1Y HTH HId JHY 317 UTd & b A0 Slh T H1H 8! H el g
3TTH! T HRAT AMU?
(A) O Blame someone for the defect
Y & forg foodlt 1 gy &A1 =mfey
(B) O Ignore it
Y IR HAT 91184
(C) O Hide the machine

A B BT8S B &1 AMfeT

(D) O Try to find the cause and remedies for the problem to solve it (Correct Alternative) (Chosen
Option)

THIT BT HRUT 3R IV 86 A &b IUTT WIS BT YATH HT 1T (Correct Alternative)
(Chosen Option)

Question No. 23 / Question ID 697 Marks: 2.00

is an activity where students who finished their studies from institute and come to talk to the
present students.

T TAfAfY § STgT TR I 31U UgTs Ul o g ST aaH S I §1d HR 311d g
(A) © Campus interview
XY
B) O Conference (Chosen Option)
(Chosen Option)
(C) O Job mela
EICEK]

(D) O Alumni Engagement (Correct,o@ i " ——
msﬁﬁlﬁf(CorrectAltern e'l@»bal ITI

Question No. 24 / Question ID 781 Marks: 2.00
Entrepreneurship is also termed as
Suasiaarsd  ieerSare
(A) O Investor

B) O Employment seeker
U—‘-Q'HLIHC G
(C) O Employer
TR
(D) O Self-employment (Correct Alternative) (Chosen Option)
-E'FEITCI'I?IE (Correct Alternative) (Chosen Option)

Question No. 25 / Question ID 565 Marks: 2.00
Table, wire, socket, cable, hammer, nail - are

99, dR, e, paa, gdel Aa &1

(A) O naming words (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(B) O pronouns

(C) O describing words

N\




(D) O action words
TR a8 d
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